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INSTRUCTIONS TO CANDIDATES

Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc. If
any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR Sheet. As the answer sheets are designed to suit the
Optical Mark Reader (O.M.R.) system, special care should be taken to fill those
items accurately.

This Question Booklet contains 55 questions, Part - A contains 40 questions of
one mark each. Part - B contains 15 questions of two marks each. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR Sheet.

All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded/wrongly
shaded/half shaded for a given question no marks will be awarded.

Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

Immediately after the final bell indicating the closure of the examination, stop
making any further markings in the OMR Answer Sheet. Be seated till the OMR
Answer Sheet is collected. After handing over the OMR Answer Sheet to the
Invigilator you may leave the examination hall.
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Mont - & / PART - A

£58,3530 £303)0RD) @03, %8 BFodwe 20T 0TI HRO0TITT. 40x1=40

Choose the best option. Each question carries One mark.

1. X)®e§3 Qjoa’;g mé}ea’é'@"ﬁ FeDIO) WOTH WSTIIY, A 23eR3.
(@) 3& (b) Soszed (c) e (d) e3P
The expected success is not just an opportunity for innovation, it demands

(a) Creation (b) Technology (c) Money (d) Innovation

2. O3 3INTIYNFS) 0300 BoTRE J0IET SRR reoegeasy) ?
(a) e (b) B8NS (c) =533 (d) odeeoe
Which of the following is not an attribute of psychological individual
difference ?

(a) Motivation (b) Learning (c) Personality (d) Complexion -

3. 33003 IS B30 FINT DGz 0wy ?

(a) 20 DFewes (b)  2%0e3

(c) w@aTedee HFewHES (d) e QB
Which are the following methods of time management ?
(a) ABC analysis (b) JIT

~(c) Pareto analysis (d) All of the above *

4. 93PDT 0FBS DO ?
(a) TFRodnd
(b) %Bﬁ?‘j@ W T0BHD
(c) Roak0d) WY BT B0
(d) BB FoDBD
What is non-verbal communication ?
(a) Visual communication

b

(b) The communication without using works
(c) By using numbers
(

d) Actionable communication

C _ P.T.O.
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5. 33003 dSr®s30d ewedneh 0w

(a) =% HUSITS L TFS
(b) TBDwI®
) U8 B8H3 093

(c

(d) eI HYBf

What are the benefits of time managements ?
(a) Greater productivity and efficiency

) Less stress

(c) A better professional reputation

(d) All of the above

6. @ﬁi@@’) Q’m%’b’ 9P eo’moaga’ Soenie N, %) aﬁézﬁm 36:5: JINC P g@
SRCBISVS.
(a) godoo— POPDCTTED (b) g, ST
(c) eﬂgﬂ’@(ﬁ (d) goi)o»({)cﬁ)o@m
~ is the positive or negative way an individual views himself or
herself.
(a) Self-actualisation (b) Self-concept
(c) Self-esteem (d) Self-regulation

7. W3E WS

(a) wexm TG (b) 30807 w85eET TG
(c) 3030Ref 33 (d) deBodber 84
Stress is :
(a) External force (b). Internal resistive force
(c) Axial force (d) Radial force
8. rb@ﬁ%fq;z BAODDFTED VXN DepeTa0ns CSQC?& 08 ea@gd@odo e DeBIT.
(a) P b)  Heoss

(
(c) esé:)a-)@ddd@ (d)  B0eIT DI
. Setting goals gives you long-term vision and short-term
(a) Value , (b) Motivation

(c) Innovation (d) All of the above
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9.

10.

11.

12.

13.

B3R00T BNISY wwon® 3T ARIALOVIACI SEclele VSRR
(a) 1869 (b) 1879

(c) 1867 (d)

Japan opened there doors to the modern world in :

(a) 1869 (b) 1879

(c) 1867 ()

GS-685

TR0 A0S LBBNYR ebriessen §odrss VBN WTTTDeN BB 352) ARCIBMYES 9300

(a) &@ﬁﬁ@iﬁeﬁg’&bo—@@@ (b)
(c) - a3 zduamen Jodo-edy (d)

RRRBEY TBD
3030-D0D0RIDY

People are more likely to act in line with personal beliefs than to conform to

social pressures when they are
(a) Privately self-aware (b)

(c) Publicly self-aware (d)

eee® 73%0(?6 RTIY0BY BB T0NT.

(a) Fer @IS (b)
(c) wafe (d)
Goal setting theory is pioneered by :

(a) Stacy Adams (b)
(c) Charms (d)

Qe0NR0T DI WeToreseriges ?

(a) 00%,87 SIS (b)
(c) PR e O W€ WS (d)
What is revealed by the posture ?

(a) Cultural background {(b)
(c) Behaviour mild or tough (d)

Low in self-esteem

Not self-regulating
DBV 0T

ap° . BUY, L30T
Edwin Locke

F.W. Taylor

Qs 3 YADINVN

RGN0 08 o3oried

Thoughts and feeling

Expressions and actions

9530 0T mdﬁécﬁo TOSRT-SDET &)mrﬁzﬁaﬁg{ 03093 3e0TT méajaé@%»mgd’ ?

3030 &. AR
(y) o
m;d:ﬁ 0T FaETE

Which author defined the socio-economic segmentation of the American

()  odger (b)
(c) & apeEs (d)
market ?

(a) Edsel )
(c) Henry F(}){{d (d)

Alfred P. Sloan
Cyrus Mc Cormick

P.T.O.
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14.

15.

16.

17.

18.

LRI

QJoee3 De80dy Bomwnsd) B3 Foajod &R0 F0C3eZ3) TG ?

(a) Hgwas (b) o

(c)  RR0e® Seks s0d) 63 (d) eI 20Tp

Which type of communication conveys the message to the large number of
people ?

(a) Newspaper (b) Language

(c) Mass Media and TV (d) All the above
SREE BT 0BT ?

(a) Redes® Joad (b)  memzRo0adb 80

(c) G z@aﬁ@b 2,000 263° (d) 3So8ees CODINSY
What is Morse code ?

(a) Secret number (b) Adventurous act
(c) A set of sound symbol (d) Alphabet over wire
Q30000 WHBORIE 309600 TOREBOWITS ?

(a) wod® (b) &S

(c) Beeo® (d)  eds adesyce vg
Who invented change model ?

(a) Drawin (b) Lewin

(c) Kottar (d) None of the above
FOBBIE) 03003 BoBBRRY) VPR3 ?

(a) FoT=S w3oewAd (b) &g =T Segded

(c) Rov0nE BWadbeTosd (d) e adeaie B
Which communication is very slower in communication ?
(a) Written communication (b) Newspaper media
(c) Outdoor advertisement (d) None of the above

0300s3 Bedsy) BT B 08y 1970 x08) 1980 G 3856 Seess 0e0LTEd 0 T FiieadoeN

a‘%@o’&ﬁm@gd ?

(a)  edw (b) mH®

(c) e3¢

W03

Which country emerges as an economic superpower and the toughest

competition in the worlds market of the

(a) America (b) Japan

1970s and 1980s ?
{c) China

India
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19. Zodes o ?
a) %088 WAE WHIY
b) Adec8zen/ e83edKe0 FHa0D SRERIBES
) POF Do $0ed03T
G
d) edR QT
What is signal ?

O

(
(
(
(

(a) A previously agreed movement
(b) Helps to direct/command
(c) Shows the future direction
(d) All the above
20. 3% JJr > ITFBER0I 3T 2IET AWR0TI) SPORT.
(a) o0 (b) OIT IESIYT
(c) Soocw (d) &8s
Stress management training is based on a theory of stress.
(a) Cognitive (b) Cognitive behaviour
(c) Psychodynamic (d) Behavioural

21. Zo’@:ﬁ%b, 3,030reh 989, ONYor ¥BTBR0NN FOSTB STEIT) D 2,060 LVEIBTEFB03INGS :

(a) SPDTJoSHS (b) ©5°° Jo=
(c) PoR*-Jweer JoSBD (d) vmPTe Y

Communicating with others by gestures, actions, etc. is an example of :
(a) Verbal Communication (b) Action Communication

(c) Non-Verbal Communication (d) None of these

22, 00 esresrieh wﬁejaa’éVSQi)E\icg B FoFeIVNTT S00C0TTGsS ?

(a) o (b) ST

(c) 200w (d) swPEe vy

What shocks have continued to impose change or organizations ?
(a) Economic (b) Psychological

(c) Physiological (d) None of these

C P.T.O.
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23.

24,

25.

26.

27.

adeerisy) Bdaivs R0%,8
(a) 3@

(c) @z

Yoga is a culture which prevents :

(a) Stress

(c) Disharmony

(d)

dweer
DT QI

Disease
All of the above

0d0os3 e BE) SHRTANR® MTedomedEe g—mrj)éﬁ mé&)aéidrﬁ%fﬁ&) QRIS ?

(a) 1993 (b) 1983

In which year Le Frannaois offers definitions for significant self-

(a) 1993 (b) 1983

QNP.2.8. 03 TRE Towm o) ?

(a) ©Ox BEB0I BoDHed

(c) BT a3N Ar=h

What is the full form of LPC ?

(a) Least Preferred Const.

(c) Labour Private Corporation

SYIMORIVEIEMOV I {oFAnS) VB3I ?
(a) @3

(c) ©2038

What is followed by refreezing ?
(a) Movement

(c¢) In stability

G5

(d)

(c) 1996 (d)
(c) 1996 - (d)
BOETOMN e_-am;sé’ 0eBS
TR BOB 23¢3

Labour Preferred Cost

Low Price Cost

9WOTE

30edS eI @e 98

Stable

None of the above

NSOVsmE J-2Rri8meN 1996 5¢) asmecd D VYD) VeBITYS ?

(@) 2.3
e‘dm
(c) Rodz®

(b)
(d)

SFepo0%07°
Seo® & oot
LR}

Who offered definition in 1996 for significant self-awareness ?

(a) G. Stonley
(c) Mullis

(b)

(d)

Le Frannaois -

Wayne Dyer

CRTTRITE

1986

awareness ?

1986
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28. “zﬁrjosj’25 (EIAMD) dRg roosy) ROTHTZ 7 DI desy) Foadn3ed ?

(a) IeHIT o (b) @Dz DA
(c) 005 wetlon® (d) QR3] 238
What do you call “The communication to a mass of people or bigger group” ?
(a) Public speech (b) Exchanging opinion
(c) Official chatting (d) General talk
29. 03RS TRONTR 3T e3T0 953 esggzpmwwmg 8Y 1RO TSN BOBITIT @@eﬁcﬁ@d&dﬁdﬁi
899809, DR 08 T23703 3@365053@ 0dowss Tesmad Reedogas ?
(a) =03 (b)  Bees eV
(c) RToRBI (d)  WIYY e 9w
Which structure refers to the extent to which a leader is likely to define and
structure his or her rote and those of subordinates in the search for goal
a) Organization (b) Hierarchical
(c) Initiating (d) None of these
30. 3695° 0dowsl Dedod RN ?
(@) &Iees® g (b)  0d®odT Ters
(c) neadess e (d)  vwaI@e e

Which type of device is telex ?
(a) Telegraphic device (b)  Mechanical device

(c) Computerized device (d) None of these

31. wosdwrd 5925@?3(\’99@ DV eLIeDTRITES ?

(a) ~xews CRINUN (b) =T TOBTith

(c)  yad OB (d) e emw
[nterpersonal skills are referred to as :

(a) Social skills (b) People skills
(c) Soft skills (d) All of the above

C P.T.O.
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32.

33.

34.

35.

%o 8208 SEOACTTorieh OB SBeOZ035NS ?

(a) Rewmo’-790° (b) Regr-Sus

(c) o’ (d) woRPTe oY
Knowledge-based innovations is the entrepreneurship ? .
(a) Super-star (b) Small-star

(c) Star (d) None of these

AETORDIT R)’oécxbwﬁi 03093 BoSBTY Begyevon JBD BT ?

(a) SPETOTIE 8y WFO e (b)  ot° wodbeoad

(c) wmEseRor® (d) SPDTFoTBS

Which communication can clarify the doubts of the receiver very fast ?
(a) Posters and banners (b) Fox advertising

(c) Broadcasting (d) Oral communication

88 FINTYMFY) 03y rbob8ees Dedad odeeas vy ?

(a) ow@es (b)  U8TRTT (c) RRER (d) =eomard
Which of the following is not a recognised type of Plan ?

(a) Business (b) Succession (c) Ad hoc (d) Financial
Jodo 0D egiodbsied

(a) Jodo- cﬁ@ﬁga"ojo@ BAOTO J-257}8 90 EBY
b) 230 Fado eer}8odch VB mc,jéc‘:)eﬁ),l

Cc) SOV é)’oi)o eabwﬁg @eérﬁ@aﬁmgd

(d)

(
(
B SH00yNE Horiyesdn® Gasle T5TE A0Ee® FOReeESTY HUBRSOIN) BBO0IRTIZE

Studies of self-awareness have found that

(a) Self-awareness is not necessary for one to have a self concept
b

(b) It is not possible to disengage one’s self awareness
(c) Humans are the only animals who are self-aware
(

(d) It may rely on the presence of spindle neurons in the anterior cingulated

cortex.
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36.

37.

38.

39.

40.

AR ESFCT 0T,
(a) Bz (b}  wo {c) FODRH (d) B0

Innovation means.

(a) Work (b)  Strength (c) Resource (d) Technology

aéfamjcdgg TS wFod BYNSY TS doesycd ?

(a) FTBT SREO (b)  SBEDore
(c)  edmyong (d)  godeesa S3)3

Which of the following shows the process of creating something new ?
(a) Business model (b)  Modelling
(c) Innovation (d) Creative flexibility

- o odoa’xg VDEBR 36T 2,06 FvoAs.

a)  peT b ©00es3
[55Y
(c) 030N (d)  SoedR adnEe Q)

The success is a challenge to management’s Judgement.

(a) Normal (b)  Unexpected

(c) Forever (d) None of the above
QP ETOT DMWY -

(a) 2TOB BR) SREeh 9 &) (b)  Recdow o SHereh
(€) 20t IS s 58 (d) eI admse 90

Long-term goals are :

(a) Five to ten years or more (b) Three to five years

(c) One year or less (d) None of the above

D) Vo0EG SEIVEI:S 2

(a) @d&d (b)  Swedh (c) RN (d) e

How many leadership behaviours are there ?

(a) Two (b)  Three (c) Four (d) Five

P.T.O.
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41.

42.

43.

44,

uort - © /| PART - B

CXVRCIM) @Qig&i)ﬁi 302, w38 @J’L?L’Qb/a 2 V0TS BROTIE. 15x2-=

Choose the best options. Each question carries 2 marks.

030933 0SB B0 &M NTIZE ?

(a) Swes (b) I ePFS

(c) =PDTPFS (d) 2oRFTe Y
Which communication is very fast ?

(a) Facial expression (b) Written expression
(c) Oral expression (d) None of the above
ROTBIBE) HR WHRRAI ?

(a) Rodesnsh (b) %R

(c) Swarwes (d) PTe vY

What is used in communication ?

(a) Signals (b) Language

(c) Facial expression (d) None of these

2,00 F3208) ©T0 D08 S0y FYSMYR) BIT rhods IEJDN SeeRT, O
(a) weosmZoN® (b) & wod (c) =g (d) e

When a group gives some of its leadership positions to the member of other
group, it is :

(a) Contracting (b) Co-opting (c) Co-alition (d) Competition

ROTBS ﬁﬁg SRy, TOBMD, ToWBMW, wrdwme,odnied, Brignieh @08y Bwgesen

WO,
(a) RPDTFoTBS (b) OSPIDTJozBS
(c) Srleacdhes® (d) RPeead3
communication our value, ideas,lbeliefs, opinions,needs and wants
freely.
(a) Verbal communication (b) Non-verbal communication
(c) Negotiation (d) - Assertiveness
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45. TOLFR J0I0 BIDTYIDOT 08y 8T B BB OO0
EITRE BB .

(a) BOOFPIERT (b) QAdozedsed (c) &~ Feor (d) epz0ze%

fffffffff Leader is self-confident and can attract followers by his great
influence.

(a) Charismatic (b) Autocratic (c) Laissez-faire (d) Bureaucratic

46. JOREHIT LRBEI DOBTEI) ?
(a) ~ewewds oyl (b)  evETR
(c) "oz JoTBS (d) ~es0es, dEaLs (SIARSEE SR
What is public speech ?
(a) Public opinion (b) Lecture

(c) Mass Communication (d) Information about general topic

47. 0093 POT BT mérﬁ%ﬁ&) BROTTYE 0B BIT03T00TE @’dg QIU§3 adgégcj@’ WMHTIY)

WOIRBYT ?
(a) ddees (b) 7S 8508
(c) Wowe (d) PRrsHLHTTDH

Which leader sets challenging goals and expects followers to perform at
their higher level ?

(a) Directive (b) Achivement oriented

(c) Supportive (d) Participative

48. 0oz DODTT 9TDoT QBEFROONTS 0T 8PDWRT ?
(a) Aders (b)  RNSHRTSH
(€) 73S s8peds - (d) 2Bowe
Which leaders know what is expected of them ?
(a) Directive (b) Participative

(c) -Achievement oriented (d) Supportive

C P.T.O.
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49. ©sEINBINYE) 0IR@ We0dvg apeciaiy v

(a) oFo A0 (b) SFeFdOD %55803

(c) -‘Bﬁ‘i@’ 2@803 (d) DR

Which one of the following is/are leadership theories ?
(a) Trait Theory (b} Behaviour theory
(c) Contingency theory (d) All of these

50. ©o0dwdd St ee0 BRED 0373 BOWORTD 7
(a) Sowe3en® Q| S8 o HIF’
(b) F&° peo®
(c) oeed®
(d) BHoN®
Path-goal model of leadership was introduced by :
(a) Martine Evans and Robert House
(b) Fred fielder
() Whetton
(

d) Cameron

51. o9 V01T Do) 2,008~ 2,02)8) 23063T° B3 Dor® SREIYTD) DR BL3eDTBTS ?

(a) Seewo® e3020° (b) Qoerzs NE°

(c) aBeesdade® 630200° (d) QPEeOY

What refers to a nine-by-nine metric outlining different leadership style ?
(a) Manager table (b) Managerial grid

(c) Managerial table (d) None of these

52. 0 YOV DJOE
(a)  o3ovwerieve yugsd Q03008 DFERFD
(b)  ese3es® eugaDd Dodog e HFesied ‘
(c) odmmeriowe 88)gm Dodo8e OBeRES
(d) oloveserieve GV IFLI DBeaEs
ABC analysis expand :

(a) Always better control analysis
(b) Alright better control analysis
)

(c
(

d) Always better copy analysis

Always best control analysis
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53.

54.

55.

ODTER SESPE 03ed)cdd ?
(a) 2howe (b) P& R0RS3D
(c] oS 3008 (d) IdDeesI

Which is the leadership behaviour ?
(a) Supportive (b) Participative

(c) Achievement oriented (d) Directive

WOV BOJT VG eFINPmeN 5902008 FAOTLIETD DO &y VTS
[N Q SRR

ROOGE

(a) e (b)  Dodbosges (c) oodwg (d) Soedweoss
is the ability of influencing people to strive willingly for mutual

objectives.

(a) Motivation (b) Control (c) Leadership (d) Supervision

88 BINTYNFY 0300y i P0ITIE BTHT AW0SSY 7
(a) .2k AR08 (b)  @es® reee® Awgos
(¢)  Fpadf - odzmen® - wriee Awgos (d) zow® Feolys PeodTy

Which of the following is not a contingency theory of leadership ?

(a) LPC Theory (b) Path goal theory
(c) Vroom-yehon-jago theory (d) Job centred leadership
-00o0-

P.T.O.



